
Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  8/18/2014 11:38 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2010756 1 555556 Circular saw WSC 85 230V   RUS 18.08.2014 USD /27483 / * / G 1/6
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

1 325340 1 PC Motor housing Neu assy

2 328912 1 PC Stator 220-240 V new

3 328913 1 PC Rotor 220-240 V new

4 325248 1 PC Gear housing

5 325249 1 PC Baseplate

6 325250 1 PC Tilt guide assy

7 325251 1 PC Protective cover 1

8 325252 1 PC Bearing cover

9 325410 1 PC Grip moulding

10 325253 1 PC Motor housing end cap assy

11 325254 1 PC Tilt guide

12 325255 1 PC Protective cover 2

13 325256 1 PC Scale

14 328915 1 PC Air deflector 60 new

15 325583 1 PC Sleeve

16 328916 1 PC Cooling fan new

17 325259 1 PC Setting lever

18 325260 1 PC Locking pin

19 325220 1 PC Brake lever

20 325261 1 PC Guard plate

21 325262 1 PC Lever assy

22 325223 2 PC Plate

23 325263 1 PC Holder



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  8/18/2014 11:38 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2010756 1 555556 Circular saw WSC 85 230V   RUS 18.08.2014 USD /27483 / * / G 2/6
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

24 325264 1 PC Riving knife W-SSC SK85

25 325353 1 PC Clamping lever

26 325265 1 PC Toothed gear

27 325228 2 PC Clevis pin

28 325266 1 PC Flange 1

29 325268 1 PC Eccentric

30 325267 1 PC Flange 2

31 325232 1 PC Stop

32 325581 1 PC Brake pad

33 325234 1 PC Tension spring 0,63X5,0X40

34 325355 1 PC Tension spring 0,7X5,5X82

35 325236 1 PC Tension spring 0,55X6,0X22,1

36 325237 2 PC Compression spring 0,7X6,8X14,7

37 325269 1 PC Compression spring 0,5X4,8X19

38 325270 2 PC Brush holder assy

39 328914 2 PC Carbon brush 220-240 V new

40 325272 1 PC Drum

41 206210 1 PC Grooved ball bear. 8X22X7-2Z608-2Z/C3

42 325403 1 PC Grooved ball bear. 15X32X9-2RS6002-2RS

43 325402 1 PC Grooved ball bear. 17X35X10-2RS6003-2RS

44 325242 1 PC Wing nut M6

45 325243 3 PC Washer 4,0

46 325244 2 PC Wing screw



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  8/18/2014 11:38 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2010756 1 555556 Circular saw WSC 85 230V   RUS 18.08.2014 USD /27483 / * / G 3/6
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

47 325531 10 PC Screw M4X10 SPERRVERZ

48 325530 4 PC Screw M4X16 SPERRVERZ

49 275834 1 PC Hex skt hd cap screw M8X258.8 - A2K

50 12149 1 PC Hex skt hd cap screw M4X88,8

51 19103 2 PC Hex skt hd cap screw M6X128,8

52 325407 1 PC Screw K60X25 WN1423

53 325408 8 PC Cap screw K40X18

54 441343 1 PC Cover

55 221692 2 PC Hex skt set screw M5X845H

56 325405 1 PC Screw M6X35

57 328104 1 PC Spring washer 25,8x19,3x0,3

58 325401 1 PC Circlip 38X1,75

59 46916 2 PC Washer 4.3140 HV - A2K

60 66291 2 PC Washer 6.4140 HV - A2K

61 325351 2 PC Spring pin 4X24

62 325336 1 PC O-ring 6X1

63 240431 1 PC Protective sleeve

64 325338 1 PC Switch 220-240V

65 325337 1 PC Capacitor

66 75094 1 PC Clamp

67 325636 1 PC Supply cord EUR

68 72417 2 PC Conductor end sleeve

69 315673 1 PC Extraction adapter W-ASC AA



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  8/18/2014 11:38 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2010756 1 555556 Circular saw WSC 85 230V   RUS 18.08.2014 USD /27483 / * / G 4/6
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

70 315675 1 PC Parallel guide W-ASC PA85

71 325384 1 PC Disc spring 8,2X20X0,6

75 325533 1 PC Washer 40X50X0,2

80 2010721 1 PC Rating plate WSC 85 230V

81 328917 2 PC Connecting cable 220-240 V, new

85 325400 1 PC Grooved ball bear. 9X26X8-2Z629-2Z

86 325382 2 PC Pressure piece

87 325383 1 PC Spacing ring

88 222052 1 PC Hex skt hd cap screw M6X258.8 - A2K

89 315676 1 PC Auxiliary grip W-ASC ZH

90 325584 2 PC Screw M5X16

91 325341 2 PC Insulating plate

100 51052 1 PC Allen wrench 5

600 430817 1 PC Label RFID

806 332201 1 PC Grease 1KG ISOFLEX

811 203086 1 PC Grease 50 ML

901 59299 1 PC Adhesive LOCTITE 222 250CCM
 



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  8/18/2014 11:38 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2010756 1 555556 Circular saw WSC 85 230V   RUS 18.08.2014 USD /27483 / * / G 5/6
  

 

 



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  8/18/2014 11:38 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2010756 1 555556 Circular saw WSC 85 230V   RUS 18.08.2014 USD /27483 / * / G 6/6
  

 

 


